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o TP 28 ATR (22 %) wys T8

o = T 2
MEole o ([HMalYE oAl ASE 235-11(ASE) ABE 50,000 60,000
QME o (MY E oAl ASE 231(ASE) ABE 50,000 60,000
Zotz &l D8 (HEtEE oAl AEES2Z 13(%3) ElES 40,000 50,000
g2 DE IMajL s 0]2A| A|E32 35(3HE) ShE 50,000 70,000
R DE IMajt s 0j2=A| A|E32Z 35-14(3HE) I3 50,000 70,000
WASH DE (Mg T oj2A| A|A3Z 35-6(3HE) eI 50,000 60,000
NS DE Maje s 0j2A| A|"32 35-6(3HE) 3= 50,000 60,000
AMoE DHE  (MEtEE oAl A8 522 22-1(35) 1= 45,000 80,000
YRzsH o (MalgE oA A|H S22 33(3HE) 1= 50,000 60,000
QHSHE oE ML oA A|HE3Z 12-15(3HE) sh= 50,000 60,000
SHR D8 (HEtEE oAl AEES2Z 16(%3) ElES 45,000 70,000
TEE D8 (FEtEE oAl StEAM1E 5(ESs) ElES 40,000 50,000
CRSEeR=T DY (HEtEE oAl AHES2Z 36(%3) ElES 40,000 40,000
gole D8 (FEtEE oAl S AM1E 11(%HS) ElES 40,000 50,000
& DY (FEtEE oAl S AM1Z 13(%3) ElES 40,000 50,000
LHEA ST H SE  |NEHE A A|EAM6E 3 (&8) ElE= 80,000 110,000
HiL|Z|otSEloj4 | SE  [FMEfY T oj$A| ARAM6Z 19 (BHE) eI 97,000 | 120,000
oS0l E=H D8 [HEt"E oAl A|YE3Z 30-7 (&) ElES 50,000 60,000
of =i X[ = & S [HEtEE oAl AIHAM6Z 5 (&5) ElES 50,000 60,000
SIS ASE SE  [HMeYE oj3A| A|HA6Z 11 (3HE) = 60,000 80,000
AMORT =& S [HMEYE oj2A| A|HA6Z 23 (3HE) = 70,000 80,000
Of2lH|o| = & SE  [HMeH T oAl A|HA6Z 15 (3HE) = 80,000 | 110,000
Mot Ao H D8 [HEtEE oAl AIHAM6Z 15 (53) ElES 55,000 60,000
FEEA @Bz Y ZE  (HEtEE oAl AHM6Z 13 (83) Bl 60,000 70,000
H|OHH|X| 22 &l SE (MY T oAl A|HA6Z 25 (3HE) eI 85,000 | 105,000
SHitheZ a4l o MY E o2Al A|HE32Z 30-5 (3HE) 1= 40,000 60,000
MKZ DY [HEtEE oAl AIHAMSZE 16 (53) ElES 50,000 70,000
AlAE| o |MIfYE o2A| A|HE32Z 30-2 (3HE) 1= 50,000 60,000
2o o MY E o2Al A|HE32Z 30-6 (SHE) 1= 50,000 60,000
ofYae DE (MY T oAl A|HASZ 26 (3HE) eI 40,000 50,000
Zotsts D8 (HEtEE oAl AIHAM1Z 56(%43) ElES 40,000 50,000




S| o oY [MEfHE ol4Al AIBE2Z 30(8HE) o5 45000 | 55000
BAMZARY | @Y |MEHE O4Al S23Y 3ERE) 525 | 50000 | 60000
Hoolg Y [MEYE O4Al SRR 487(ZLE) 525 | 40000 | 70000
Mo Y |MEYE Ol4Al 5242 5ERE) 525 | 40000 | 50000
R Y |MEYE Ol4Al 5222 8ERE) 525 | 30000 40000
SR e oY [MEfdE ol4Al 2212 36(ZRE) s | 40000 [ 50000
Holo|oMBESY Y (HElHE o4Al YU 20(HSE) g5 | 75000 | 110,000
stesd o= | Y |HalLE of4A] HEs|Z 99(HES) S3E | 115000 | 210,000
S HA (MY Ol4Al BYR 38ESE) S35 | 80000 | 150,000
2=l S AH k=3~ MEIHE oA U2 40(E=E) == 55,000 130,000
ofZ|otz A Hl k=3~ MEHE oA UUZ 185(E=3) == 190,000 210,000
HiCp 2 &l od MEHE oA BUZ 213(EH=3) == 40,000 70,000
=SS0 asH od MEIHE OA| LEE2 75(=1HE) ™M= 50,000 70,000
HSgt s &l sd MEHE OA| LEEZ 74(3=1HE) ™M= 90,000 150,000
TZHtADHE od MEHE OA| @522 61-14(=HE) ™M= 60,000 100,000
and od MEIHE OA| @522 61-6(=F"S) ™M= 40,000 60,000
2|2tz oY [MEfYE ol4Al HEMIH2Z 138E) | o5 35,000 | 40,000
SiM D E =g MEHE oAl HEMZR2Z 15(8Hs) 1= 35,000 40,000
sy oY |MEfYE ol4Al HEMDH2Z 198E) | o5 45000 | 80,000
B|xme oY |HotdE ofxAl ARMBAIZ EE) | &S 45000 | 50,000

A O o4 MEIHE oAl S22 32-8(&s) 1= 40,000 50,000
Heoy oY |MEYE ol4Al HEMEAZY 14-18E)| o5 25000 | 25000
ST oY |MEfYE Ol4Al HEMIU3L 8EE) | os 45000 | 70,00
za(Rh2 oY |MEfYE ol4Al HEMIU3L 6EE) | oS 40,000 | 70,000
ing 2 & oY |MEfYE ol4Al HEMIUIL 25E) | oS 40,000 | 70,000
el yNgmg=] =g MEIHE oAl HEMZ1Z 26(8Hs) 1= 40,000 40,000
o3 o E od MEIHE oA St A1Z 16-6(8Hs) 1= 40,000 50,000
g oY (MR o4l 8522 15(35) o5 40,000 | 50,000
NEEE! Y |MEfYE oj4Al 8522 303HE) o5 50,000 | 70,000
BEmy oY |MEfYE o4l 8522 23(3E) o5 45000 | 50,000
6&9 HHl od MEEE oAl MA3Z 21-10(31EHE) el PN 50,000 55,000
2oy oY Mot of4Al MA3Z 216(2HRE) | Ss | 50000 | 60,000
AlA CIE] od MEFE T oA MABZ 21-3(31%S) el PN 40,000 50,000
2SI A =g MEE T oAl MABZ 24-7(31%S) el PN 35,000 35,000




ZEy 2 |HEtHE oAl QA3 245t E) s 50,000 [ 60,000
ofz|zd 2E |HEtHE oAl QA3 21-4(3HEE) S 50,000 | 60,000
Ho|Fold 2 |HEtHE oAl Q43 24-8(3HEE) S 50,000 | 60,000
OiEFol Z2E |HEEE oAl GA3E 21-5(8HE ) LIESeS) 50,000 60,000

v ES=E 2E |MEEE oAl FU6E 43-4(HES) HES 50,000 60,000
Fteta & 2E |MEEE oAl FU6E 42-4(HE-S) MRS 40,000 50,000
MEDH 2 |MEEE oAl FU6E 42-3(HES) HES 50,000 50,000
SR 2 |HEtHE oAl Qa1 8-4(3tEE) S 45,000 | 50,000
CiohR ol 2 |HEtHE oAl A3 21173 EE) | dAEE 50,000 | 60,000
ofojARolE Y |HEtHE oAl A3 21-11EHEE) | dAEE 60,000 | 90,000
Ho|Runs e 2 |MetHE oAl ABZ 21153 E) | SRS 60,000 | 100,000
RPN E 2 | HEHE oAl EEL2E 69(EFS) | EFS 40,000 55,000
ALt Se |MIHE O5Al 252106 65 75(245) | 245 70,000 [ 80,000
ZANERY 2d  |HEtEE oAl A 1E 95-9(01M &) oMS 40,000 | 50,000
ool =L ASH| T (MElHE oA 242 58(24E) 245 75000 | 95,000
Az ol 28 |MatHE oj%A| 0212 39-14(0ME) | OAS 50,000 [ 90,000
sto| 2ol e oY |HMetdE O4Al 23122 8424 5) 245 50,000 | 60,000
EEPN=T=1=! oe  |MatHE Ol4A| 1R 43-17(01M S olME 40,000 | 50,000
M2 E 28 |MalHE oj5A| o223 76-1(24E)| 245 50,000 | 60,000
17t E 28 |MalHE oj%A| 0212 43-21(0ME) | OAS 50,000 | 80,000

2| me e |MEHE oAl 212 43-13(0/M5) | B4E 50,000 60,000
apcody 2 |HetEE oAl 225 69(0ME) | OlME 50,000 [ 60,000
Goel 28 |MEtE oA 212 43-7(0M5) olME 40,000 55,000
e oY |HElHE O5Al Of 22822 33(24E) | 245 50,000 | 60,000
2524 od  |MEtdE o4l OlR2E2Z 65(245) | £48 50,000 | 60,000
=203 2e |MatdE o4A] 12 95-8(01ME) HME 40,000 | 50,000
RELHM WY |[HEtEE oAl SHRZ 78(53HE) ZotE 50,000 | 100,000
Oof b X H A HY  |HEHE oAl SIEZ 64(32+E) ZotE 60,000 | 150,000
Crotme oY (MR oA 33222 13(385) 235 40,000 | 60,000
4EE2 BEeY | oY |HHE oA 322 2038E) | 3¢S | 60000 | 80,000
seoi SH |MILE 044 LEEZ 20(2315) 335 70,000 [ 120,000
DI INNA A ESHRAALES A HBHE O A| S5HH2Z 16-1(3%H8) | 328 15,000 | 15,000
o e oY (MEEE Ol4Al 3322 8- 1335 | 23S 40,000 | 50,000
CIEAAESIRA | 2E  ([Mafdz oAl 2322 15-1(23ts) | 235 40,000 | 45,000




100 2lelmE DE (MY T oAl 23222 15(2315) 2= 40,000 60,000
101 oo o MY E oAl 23222 25-1(23E) | 2= 30,000 50,000
102 Z2ADH o (MatdE oAl S22 87-1(231E) 235 30,000 60,000
103 st HM  ([MEtEE oAl Mg MFZ 9 =S 60,000 | 120,000
104 S EC 2fHI HM  |HEtHE oA S4S ZHECLE 85 =4S 80,000 90,000
105 |gHxEZSAUE HAM (YT oL A| SAS RSSO 76 EAS 60000 130000
106 L= o= SE  |[HIHE Oj$A| EAS Zusot2 93 EMS 70,000 | 120,000
107 DSSH SE (MY T Oj$A| EAS ZL2 42 EMES 50,000 [ 100,000
108 A E S A HAM (MY T o2 A| SAS RIES|OHZ 9 EMES 90,000 | 140,000
109 Lt 2 Hd HM  |MEtHE oA S4S ZEH4Z 53 =4t 40,000 80,000
110 o= Bt 153 HM  |HEHE oA O MBHE 202 35(3315) | B3tE 95,000 | 185,000
111 X eEH A HM ([HM2HE oAl Of2A|TI2 1(B3E) =3 96,000 | 150,000
112 |[HEHIAAES QA AAESRA|MEILE Oj4A| O|2ABXNE 191(B3E) | Z3E 15,000 18,000
113 HEME M HM (H2IHE 0j$A| Of2A|TIR 2(B3E) =3 72,000 | 150,000
114 AFto| 2 &l oE  (MeHE oAl DEH1Z 5-5RE) mi= 60,000 80,000
115 Ctojotz & oE  (MatgE oAl nEEH1Z 6-3(mE) mi= 40,000 60,000
116 ez DE (MY T oj2A| SUR 72-21(EYE) Y= 40,000 70,000
117 ofgisi7|ELY |[A2ESRA|MAYE oA RELHZ 5-4(mE) mi= 15,000 20,000
118 [=L=TH g |MIHE O4A| DEH1Z 6-12(1E) mi= 50,000 70,000
119 olREmH oE  (MeHE oAl DEH1IZ 6-1(RE) mi= 50,000 70,000
120 UHAESRA [AAESA|MEILE oAl EEE 2-2(EYE) sYE 25,000 25,000
121 S THE L S |HetEdE oAl O|=AERE 135(8%tE) | BoE 95,000 | 150,000
122 |HCOHOAAAES A HAESQA|MEIHYE Oj$A| S22 18(1AE) IArE 20,000 22,000
123 SR HCHE M HM  [HMEtEE oA O] 3T R 159 (BYE) | 59 108,000 | 185,000
124 Bl o DH  (MatgdE oAl EEH3Z 6-1I(EEHE) = 40,000 50,000
125 AQEDH DHE  (MatgE oAl EE3Z 6-21(EES) = 35,000 40,000
126 EHoE DY (Hat"E oAl EY2Z 6-6L(EHSE) = 40,000 50,000
127 cagg DHE  (MEtgE oAl EE3 BIELES) = 40,000 50,000
128 = HiO| 2 &l DHE  (MatgE oAl 2242 552 E) QE=E 50,000 60,000
129 EQADE DE  [MelHE oj$A| EEH3Z RIEEHE) = 40,000 50,000
130 =0t & DHE  (MEtYE oAl 224 S4EE) QE=E 40,000 50,000
131 AEL|DE DE (MY T oAl 22142 5922 E) Qz=E 50,000 65,000
132 0|8t ADE oE (MY E oAl 22142 61(QEE) Qz=E 60,000 70,000
133 2o DHE  (MatgE oAl 2242 48(2EE) Q= 40,000 50,000




134 ORI DE MEIHE oAl 22122 12(2Els) LeX=1E 40,000 50,000
135 SN2 od MEIHE oAl QEI2Z 12422l 5) Lo X=1E 60,000 70,000
136 ItE| 2 &l od MEIHE oAl Q2122 12-6(2 2 F) E=E 40,000 50,000
137 cck2 &l od MEIHE oA Q2122 9(2ElE) LeX=1E= 35,000 35,000
138 oz d o4 MEIHE Of=A| 22142 53(2ElE) E=E 45,000 60,000
139 CEEN=E 28 MR Oi4Al SALT BEAE) 245 | 40000 | 60,000
140 Herzd 29 |HEEE oAl BAMHTZ 13(2ME) | =45 | 50000 | 70,000
141 S&Dd od MEIH T OjA| EAML8Z 11-16(2AHE)| EAME 35,000 40,000
142 PN x== od MEIHE oA EA4ET7Z 11-10(2AMHE)| E4AME 60,000 120,000
143 St Lo E od MEIHE oA EAE7Z 11-11(2AMHE)| EAME 40,000 60,000
144 oA od MEIHE OA| EALT7Z 11-20(240HE)| E4AME 50,000 80,000
145 MNo =&l od MEIHE oAl EAL7Z 11-15(2AMHE)| EAME 40,000 50,000
146 H|F 2 &l o4 HEIHE oA EALT7Z 11-24(20HE)| EAMS 40,000 60,000
147 fey 29 MR oAl BAH6Z 7(ZME) 245 | 40000 | 50,000
148 | MEBatYRY | 2Y  |detdE oAl BAHEY 119(2AS) | ZMS | 30000 [ 40,000
149 HjL| A2 El od HEEE oA BAL6Z 17-7(84AHS) 2AME 40,000 70,000
150 Ojg =& od MEIHE oA EAME6Z 11-15(2AHE)| EAME 30,000 40,000
151 == od MEIH T oA EAME6Z 11-18(2AHE)| EAME 40,000 70,000
152 EEEE] 28 |HEEE oAl BAH8 17(2AE) | =4S | 40000 | 50,000
153 |[2HOlHAILASY Y |MetdE oAl BAHSY 17-15(245)| =AM | 90000 [ 110,000






